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QUESTION 1

A network administrator has copied new software to an HP ProVision switch and placed this software in the secondary
flash location. The switch is currently booting from the primary flash location. The administrator wants the switch to start
using the new software. 

What should the administrator do to accomplish this? 

A. Execute the command to boot the system from the secondary flash. 

B. Reboot the switch, which automatically causes the switch to use the newer software. 

C. Copy the secondary software to the primary software slot. 

D. Rename the secondary software as the primary software. 

Correct Answer: A 

 

QUESTION 2

Refer to the exhibit. 

The network administrator is setting up Multiple Spanning Tree Protocol (MSTP) with the settings shown in the exhibit.
All the switches are in the same region. The administrator has requested help determining which VLANs each switch-
toswitch link should carry. What is a recommendation for this topology? 

A. To prevent disruptions during link failure, Links 1-4 should carry VLANs 10-13. 

B. To optimize forwarding, Links 1 and 2 should only carry VLANs 10 and 12, and Links 3 and 4 should only carry
VLANs 11 and 13. 

C. To ensure compatibility with MSTP, Links 1-4 should be untagged in VLAN 1 and have no tagged VLAN
assignments. 
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D. To optimize forwarding, Links 1 and 3 should only carry VLANs 10 and 11, and Links 2 and 4 should only carry
VLANs 12 and 13. 

Correct Answer: D 

 

QUESTION 3

A company needs a two-member Intelligent Resilient Framework (IRF) virtual switch. The network administrator is
configuring IRF member 2 that will connect to port 1/1 on IRF member 1. What is the correct IRF port ID for member 2? 

A. 1/2 

B. 2/2 

C. 1/1 

D. 2/1 

Correct Answer: B 

 

QUESTION 4

Exhibit1. 

Exhibit 2 

A network administrator wants to create a backup IP route to 10.1.20.0/24 on Switch-1. The backup route should use
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Link 2, and it should only be used if Link 1 is down. What is the correct setup to accomplish this? 

A. an IP route through 10.0.2.2 with administrative distance 1 

B. an IP route through 10.1.20.1 with administrative distance 1 

C. an IP route through 10.0.2.2 with administrative distance 10 

D. an IP route through 10.1.20.1 with administrative distance 10 

Correct Answer: D 

 

QUESTION 5

Refer to the Exhibit. 

Originally, all four switches had the same region configuration. VLAN 14 was added to Switch_D and then mapped to
instance 2. How does this affect the Multiple Spanning Tree Protocol (MSTP) topology? 

A. Load sharing is lost; one of the uplinks is blocked for all traffic on Switch_D. 

B. All connectivity is lost; both uplinks are blocked on Switch_D. 

C. A Layer 2 loop exists and will cause sporadic connectivity issues. 

D. Load sharing is lost; one of the uplinks is blocked for all traffic on Switch_C and Switch_D. 

Correct Answer: B 
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